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446?5=<5< 4> 0,3 ��4 >F 
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D4E?>?>65==OE 6 7>D>4E>>< >>DG75 7>D>4 '>4?>6E> �<657>D>4E>>= >5?4EF<  

 
 

1. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, '>4?>6E><= D4=>=, ��� "'>4?>6E>4O $<6L5D4", G?. 
�5E5==OO, 4.4 (�-1-0652�-%)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 5 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
'>4?>6E><= D4=>=, ��� "'>4?>6E>4O $<6L5D4", G?. �5E5==OO, 4.4 

(>444EFD>6O= =><5D 52:13:0080201:819)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 576681.29 2167267.55 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 576679.50 2167270.56 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 576679.25 2167270.97 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 576680.04 2167271.44 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 576677.97 2167274.87 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 576673.77 2167272.33 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 576676.06 2167268.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 576677.86 2167265.50 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 576681.29 2167267.55 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

2. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F F>G>< 
?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: 
�<657>D>4E>4O >5?4EFL, 7.>.7. '>4?>6E>, E. �5DL<?>6>, G?. %565D=4O, 4.2 (�-

1-0454�/�-�)», =47=4G5=<5: �>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3 ��4 >F 
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F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4, 

?D>FO65==>EFL: 81 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
7.>.7. '>4?>6E>, E. �5DL<?>6>, G?. %565D=4O, 4.2 (>444EFD>6O= =><5D 
52:13:0120404:1283)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < 
�5F>4 >?D545?5=<O >>>D4<=4F < 

ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 564540.20 2168332.55 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 564540.56 2168324.72 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 564542.59 2168286.10 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 564543.65 2168252.64 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 564543.32 2168252.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 564543.44 2168248.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 564547.77 2168248.76 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 564546.59 2168286.26 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 564544.56 2168324.92 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 564544.20 2168332.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 564540.20 2168332.55 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

3. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: $.$., �<657>D>4E>4O 
>5?4EFL, 7>D>4E>>= >>DG7 7>D>4 '>4?>6E>, 4. �G7=5F>6> (�G7=5F>6E><= E/E), 
G?. �>?564O, 4. 20 (�-1-0429�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 
446?5=<O, ?D>FO65==>EFL: 124 <, 44D5E: $>EE<=E>4O $545D4F<O, 
�<657>D>4E>4O >5?4EFL, 7>D>4E>>= >>DG7 7>D>4 '>4?>6E>, 4. �G7=5F>6> 
(�G7=5F>6E><= E/E), G?. �>?564O, 4. 20 (>444EFD>6O= =><5D 
52:13:0080401:3263)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 574612.03 2168034.24 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 574613.94 2168037.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 



3 

 

<7<5D5=<= (>?D545?5=<=), 0.10 

3 574613.48 2168037.97 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 574618.87 2168048.08 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 574615.33 2168049.96 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 574609.97 2168039.88 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 574542.28 2168076.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 574537.17 2168088.96 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 574538.88 2168101.38 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 574532.36 2168108.34 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 574529.44 2168105.60 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 574534.66 2168100.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 574533.07 2168088.46 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 574539.10 2168073.37 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

15 574609.83 2168035.41 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 574612.03 2168034.24 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

4. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: $$, �<657>D>4E>4O >5?., 
'>4?>6E><= D-=, E. �5DL<?>6>, G?. �4D5G=4O, 4. 41 (�-1-0787�/2022/��/��)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 16 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?., '>4?>6E><= D-=, E. �5DL<?>6>, 
G?. �4D5G=4O, 4. 41 (>444EFD>6O= =><5D 52:13:0120405:1619)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 563668.19 2167450.16 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 563663.71 2167454.30 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 563660.99 2167451.36 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 563666.11 2167446.62 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 563675.10 2167443.71 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 563676.33 2167447.52 �5F>4 E?GF=<>>6OE 75>457<G5E><E - 



4 

 

<7<5D5=<= (>?D545?5=<=), 0.10 

1 563668.19 2167450.16 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

5. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
'>4?>6E><= D-=, E. �5DL<?>6>, G?. �4D5G=4O, 4. 17 (�-1-0267�/2022/��/��)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, ?D>FO65==>EFL: 11 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, '>4?>6E><= D-=, E. 
�5DL<?>6>, G?. �4D5G=4O, 4. 17 (>444EFD>6O= =><5D 52:13:0120405:1618)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 563731.96 2167667.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 563717.75 2167671.73 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 563716.51 2167667.93 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 563730.72 2167663.32 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 563731.96 2167667.13 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 

6. «�47>?D>6>4-66>4 > 6<?><G 4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 
'>4?>6E><= D-=, E5?> �5DL<?>6>, G?. �4D5G=4O, 4. 1 (�-1-

0792�/2022/��/��)», =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 

?D>FO65==>EFL: 10 <, 44D5E: $>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 
'>4?>6E><= D-=, E5?> �5DL<?>6>, G?. �4D5G=4O, 4. 1 (>444EFD>6O= =><5D 
52:13:0120405:1620)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 563770.29 2167810.47 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 563771.70 2167814.21 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 563758.82 2167819.06 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 563757.41 2167815.32 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 563770.29 2167810.47 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 
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7. «�>475<=O= 747>?D>6>4 446?5=<5< 4> 0,3��4 >F F>G>< ?D<E>54<=5=<O 
> D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4 ?> 44D5EG: �<657>D>4E>4O 
>5?4EFL, 7.>.7.'>4?>6E>, 7.'>4?>6E>, G?.�>64=E>>7>, 4.37(�-1-0279�-�)», 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O >F F>G>< ?D<E>54<=5=<O > 
D4E?D545?<F5?L=><G 747>?D>6>4G 4> >5N5>F4, ?D>FO65==>EFL: 40 <, 44D5E: 
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O >5?4EFL, 7.>.7. '>4?>6E>, 7. '>4?>6E>, 
G?. �>64=E>>7>, 4. 37 (>444EFD>6O= =><5D 52:13:0060202:1514)  

 

�5>7=4G5=<5 
E4D4>F5D=OE 
F>G5> 7D4=<F 

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F < 
ED54=OO >644D4F<G5E>4O 
?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), < 

�?<E4=<5 
74>D5??5=<O 

F>G>< X Y 

1 2 3 4 5 

1 579608.33 2170060.67 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

2 579609.81 2170063.49 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

3 579611.47 2170068.71 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

4 579620.78 2170083.45 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

5 579624.66 2170089.38 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

6 579629.33 2170097.08 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

7 579624.75 2170100.00 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

8 579622.60 2170096.63 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

9 579623.88 2170095.81 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

10 579621.27 2170091.51 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

11 579617.41 2170085.61 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

12 579607.81 2170070.41 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

13 579606.11 2170065.03 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

14 579604.79 2170062.54 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

1 579608.33 2170060.67 
�5F>4 E?GF=<>>6OE 75>457<G5E><E 

<7<5D5=<= (>?D545?5=<=), 0.10 
- 

 
 

_______________ 
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